2016 (A) Ay
SSC PARTH (3th CLASS)
MATHEMATICS (SCIENCE GROUP) GROUP b -of (] D) G

TIME ALLOWED: 2.10 Hours SUBJECTIVE ¢l Zan =
MAXIMUM MARKS: 60 60 = AF
NOTE: - Write same question number -q.&»;ﬁfr{.glr.ﬂzé &,»AZJMJIM»;QKQM o
and its part number on answer book, as given in the question paper.
SECTION- (:Lo

2. Attempt any six parts. 12=2x6 é/futliéllliadf 24
()  Define Scalar Matrix. .éJ/JJs. (i
(i) Find Additive Inverse of the given Matrix. F= [ ff \}5 ] SIS i)
(ii)  Define Rational Numbers, At (i
(iv)  Simplify- (X') =x", x#0 () +x*, x20 ._..;{,j’ (iv)
() Expressin Scientific Notation. 0.0063 00063 -E iy (V)
(V) Express in Ordinary Notation. 5.06 x 10 s06x10° =2dne W)
(vi) Find the value of x* + ) if x+y=17, =12 Sgepedf 2 +y G
(viil)  Simplify:- ”’3—'6(‘1 %ﬁ_ﬁ S i)
() Factorize- < _ 242 W * W
b a’ b
3. Attempt any six parts. 12=2x6 -é//..wamc_é,’ 34y
() Find the L.C.M of the following expms;ons by factonzatnon - c{(ﬁ'g’uwlub’u}’ J;b»d f..g» 0]
x* +4x+4; -4, ' +x~-6
(i) Solvefor x —;—|3x+2|—-4=ll —;—|3x+2|—-4=ll -_éf:b‘..‘{gf (i)
(i) Solve the inequality:- 9-7x>19-2x, where xe R _E‘{rﬁ‘q’fb’y,vff (i)
(V) Verify whether the point (2, 3) eliyax-yr1=0 s (2 3) BPETS W)

liesontheline 2x -y +1=10 or not.
-5.*:'(}“;,:')-5'& A m Bll St y=mx+c { x+y—1=0chs (V)
(v)  Find the values of 'm'and ¢’ by expressing the equation 3x + y — 1 =0intheform y =mx +¢

(vi)  Define Isosceles Triangle. Sl Augls )
(vii)  Find the distance between the pair Erleigeal izl B (3, -6) HA(2, -6) b5 (vi)
A(2,-6) , B(3, —6) ofpoinis.
(viii) Define Congruency of Triangles. .é..d /‘JJ VJU,J" (viii)
(ix)  Find the unknowns values of .g,f/r}";}_:‘)gf ntoalemt oyt ox” (}"t‘;(,wdmfd, (ix)
x*. y*. m" n° inthe given parallelogram.
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2016 (A) il
SSC PART-| (9th CLASS)

WATHEMATICS (SCIENCE GROUP) GROUPI 1~ oo/ (oof 1) ¢

rIME ALLOWED: 210 Hours SUBJECTIVE [ElL» ga10 =

WAXIMUM MARKS: 60 60 = Af
NOTE: - Write same question number -96»;}2;.4.3’:;@;{ z-,»,&z,,njdf,wwz sy
and its part number on answer book, as given in the question paper.
SECTIONA (bl

2. Attempt any six parts. 12=2x6 -égfaglzilzlgc_éf 240y
i) Define Singular and Non-Singular Matrix. EM it ()
I 2
i) Find the Product of [ 5 N 123 ] S A )
4 5 6
i) Define the Muliplicative Identiy. EafPls i)
(iv)  Find the conjugate of —3 + 4i -é(}“.')_?.’ K¢ -3 +4i (W)
(v)  Findthe value of x when log,x =5 log,x=5 .é_é(»"’:—fu( x v)
(vi)  Write in the form of Single Logarithm. log25 - 2log3 Juﬁfﬁﬁ»b (vi)
(vi)  Rationalize the denominator of LW 7"27" (vil)
5+ 2 X 5+42
(i) 1 x =4~ T, then find th value of — ey L dex=4-3T S i
() Faclorize 1-125x' S 1125 (i)
3. Attempt any six parts. 12=2x6 -é{,églﬁé!zlgc.‘jf -3;{}!.-’
(i  Solve the equation. 3_2" - % - % S )
(i) Solve the inequality. %x . % <z % EHevlad i)
(i) Find tne solution set of the equation, |3x +14 | -2 =5x Erpepfleile i)

EFS e A m aliSg y=mire [ 2x=ye3 o (W)
(iv)  Findthe values of 'm' and ‘¢’ for the equation 2x = y + 3 by expressing it in the form y = mx + ¢

(v)  Define Triangle. Eailes W
(vil  Find the mid-point of the points A (9,2 )and B (7,2)  -&PElvsk B(7.2) 4l A(92) 46 ()

(vii) Define Right Angled Triangle. ESPSLl A (i)
(viil) Whatis SAS Postulate? S \larrf S (i)
(ix)  Define Congruent Triangles. -s{-?/Ju'WP (ix)
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PAPER CODE 2016 (A) A

NUMBER: 5197 SSC PART- (9th CLASS)

MATHEMATICS (SCIENCE GROUP) GROUP-| b - (oo FU) L
TIME ALLOWED: 20 Minutes OBJECTIVE d'?/".ﬁ w20 =y
MAXIMUM MARKS: 15 15= AF

A of \ NI AL ke R s L s g Q632 < FELEr D 1 C B A 2Bl vy i
S -(L@&)pﬁ}d{uﬂan‘u(f_/(;i Bubbles -(x»;'bh'.,«'f.mﬁ;ﬂ:ﬂ)‘g;."_)’.;’ Jok t Lfi,v(u;f’m}_};.{' L)

Note: You have four choices for each objective type question as A, B, C and D. .qx.’:d'},’c:.ulr{.gc.gﬁr

The choice which you think is correct, fill that circle in front of that question number. Use marker or pen

to fill the circles. Cutting or filling two or more circles will result In zero mark in that question. Attempt as

many questions as given in objective type question paper and leave others blank. No credit will be awarded

in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay
I | 1 1

(1) u_b—mlsequalto: -4l = uh (1)
W =2 ® 2 © =2 0 =2

{2) Factorsof 3x* —x -2 are- AL 3 - x =2 (2)

(A (x+1), (3x=2) B)(x+1), (3x+2) (C)(x-1), (3x=2) (D) (x-1), (3x+2)

(3) HCFofa' —b’and o' - b is- -g.fg’;l&( a@-b o ad- (3
(A)ya-b (B)ya+h €Va’ +ab+ ¥ (D) @’ —ab +b*

(4) x=0 isasolutionofthe inequality +J:(¢{V’£ ohiad x=0 (4
(A) x>0 (B) 3x+5<0 (C) x+D%0 D) x-2<0

(5) Point (—3,-3) lies in quadrant- < LULE (-3,-3) B (5)
(A) | (8) 1l () 1 (D) IV

{8) Mid-point of the points (2, =2 )and (-2, 2 )is- .«;_xi&y»s’ (2,-2) o (-2,2) & (8)
(A)(2,2) B} (-2.-2) (C)(0.,0) (B 1)

{7) Inatriangie, therecanbe __right anglels -ugéxz__:ujﬁuf.w-y/ M
(A) Two » (8) One i (C) Three £ (D) Four g

(8) Medians of a triangle are:- Blngbalol  (8)
(A) One (B) Three ¢ (C) Two » (D) Four i

{9) Bisection means to divideinto ____ equal parts. - m/r.{;w"m o= :I/:.J:"h 9)
(A) One i (B) Three (¢ (C) Four Jp (D) Two »

(10) Symbol used for similarity is:- edbiowd 28 (10)
(A) = B8 (C) ~ D) =

i11) Ifthe three altitudes of a triangle are congruent, then the -Jn.‘,ﬁ-u;unu“b'ﬁ.-fuféw.ﬁﬁ 1)

triangle is:- (A) Equilateral { 4>t {s+ (B) Right angled .+./1=/5 (C) Isosceles j U (D) Acute angled oMb
(12) A point equidistant from the end points of a _{.ng':; o £Bﬁvﬂpm.bwfdsucw/ébﬂu’;tﬁ.§ (12)

line-segment is on its ;
(A) Bisector i+t (B) Right-bisector i#tfs* (C) Perpendicular »f (D) Median -»

{13) Order of a Square Matrix is - 2K gLl (13)
(A)2=by -2 B)1-by-2 (C)2-by -1 D) 3-by-2

(14) Real partof 2ab (i + 7* ) is:- B 2ab(i+ ) A (14)
(A) 2ab (B) -2ab (C) 2abi (D) ~2abi

{18) f «" =n then M a =n /" (15)
(A) a=log,n (B) x =log, a (C) x=log,n (D) a = log, x

29(SCIENCE GROUP)(Obj)( 7 7¢ 3 3 }-2016(A)-68000 (MULTAN)




PAPER CODE 2016 (A) iy
NUMBER: 5198 SSC PART-I (9th CLASS)

MATHEMATICS (SCIENCE GROUP) GROUPI . oo/ (oof ") U

TIME ALLOWED: 20 Minutes OBJECTIVE (.o 22 =
MAXIMUM MARKS: 15 15= Af

A B\ ):U;/")JPJ.P":.,«M:/»;.u&,’u’b.’:f{.:&bﬂd’r/:{d(@ﬁ - JLEIDHCBA .:-;'i..‘fxgédlrﬁ O
Ji .Q’Z.kg)g/.‘j’,‘:éf;,ﬁ.:azﬂ\;}._f.‘i Bubbles -b’my"—%lﬂuﬁgﬁau‘JL& Juk L L/Ju;ﬂmy;.{t &

Note: You have four choices for each objective type question as A, B, C and D. -Q/ZJ’?}.;UV(.;.;.JV

The choice which you think is correct, fill that circle in front of that question number. Use marker or pen

to fill the circles. Cutting or filling two or more circles will result in zero mark in that question. Attempt as

many questions as given in objective type question paper and leave others blank. No credit will be awarded

in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay

(1) The degree of polynomial 4x* + 2x%y is- <208 4x' +2x'y \}J/?f (1)
(A) 2 (B) 3 (C) 1 (D) 4

(2) ___ will be added to complete the square of 9a’ — 12ab . Lybpnd Ll 9a* -12ab (2)
(A) -16b° (B) 1657 (C) 4¥ (D) —4b’

(3) The square rootof @' —2a + L is:- < Gluef @ -2a+1 (3
(A) £(a=1) (B) £ (a-1) A€} a -1 (D) a+1

(4) If x isnolargerthan 10,then - e 10288 xS @)
(A) x<10 (B) x= 8 (C) x=<M0 _ (D) x>10

(5) Ordered pair _____satisfies the graph of the equation » = 2x -g.dl,gdv'z y=2x e B (5
(A) (1,2) ®(2.1) (€)(2,2) (D) (0,1)

(6) Distance between the points (1,0) and ( 0,1) is:- e et (0,1) #(1L,0) 38 ()
(A) 0 (8) 1 (€) V2 (D),2

{7) "L"is the symbol of - <ok "L ()
(A) Concurrent 53(' (B) Congruent J‘b“* (C) Equal 4« (D) Perpendicular »¥

(8) In parallelogram opposite angles are:- -wcm_:lzJS’Lwad/lr (8)
{A) Equal/Congruent 4'44)’&" (B) Intersect Du (C) Parallel/Congruent dzl//Jv‘ (D) Concurrent Jw(‘

() The rights bisectors of the sides of a triangle are:- .g‘e_x.vto»/ﬁbwlé..}f (9)
(A) Congruent Ji*  (B) Concurrent 5% (C) Parallel §i1# (D) Equal

(10) Congruent triangies are:- -u_.’énu.w' .fu‘* (10)
(A)Difirent ¥ (B)Parallel (3 (C) None of these A2y (D) Simiar &5

(11) A point equidistant from the endpoints bl LB bbbl gyl b;h?;,(:zﬁ.{l (1)

of aline segmentisonits
(A) Bisector i#{ (B) Right bisector —i#tyi»f (C) Perpendicular » (D) Median é-s

(12) The medians of a tnangle cut each other in the ratio . i/ d"uﬁ./o :L_ /».{!4&4&& (12)
(A) 4:1 ) (B) 3:1 (C) 2:1 D) 1:1

(13) Productof [x »]| : is:- -q.m,m}/‘v [x yJ[ ’f] (13)

(W) [2¢+ »] ® [x-2v] (€ [2x-y] ©) [x+2y]

(14) % is V\:ritten in exponential form as:- : -ng‘.,tasu;f Ux (14)
(A) x7 (8) x’ (C) x (D) x2

(15) The logarithm of unity to any base is:- -c.rmc/;(h’ ' JJUJ( (15)
(A) ¢ (B) 0 (C) 1 (D) 10

31(SCIENCE GROUP)(Obj){ 7¢ 3 3¢ 7¢)-2016(A)-58000 (MULTAN)
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